
10.3 The Quadratic Formula 
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Example 1 Use the Quadratic Formula to solve the following.  
a) 2x2 + x – 2 = 0 

 
 
 
 
 
 
 

b) -2x2 = 4x – 3 
 
 
 
 
 
 
 
 

c) (3x – 1)(x + 2) = 4x 
 
 
 
 
 
 
 

d) 4x2 + 12x + 9 = 0 
 
 
 
 
 
 

QUADRATIC FORMULA 
A quadratic equation written in standard form ax2 + bx + c = 0 can be solved with 

the Quadratic Formula.  
 

 



e) 3x2  + 2x = -4 
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Quadratic equations can have ________ or ____________solutions. You can determine 
the type and number of solutions by finding the ______________.   
 

  
 
 
 
 
 
 
 
 
 
 

 
Example 2 Determine the type and number   
Of solutions of each. 
a) x2 + 5x + 10 = 0 
 
 
 
 
 
 
b) x2 + 6x + 9 = 0     c)x2 + 6x + 8 = 0  
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Discriminant of a Quadratic Equation 
 

The discriminant of a quadratic equation 
in the form ax2 + bx + c = 0 is the value 

of the expression  



This document is 100% funded by the MoSTEMWINs $19.7 million grant from the U.S. Department of Labor, Employment and 
Training Administration (TAACCCT). The product was created by the grantee and does not necessarily reflect the official position of 
the U.S. Department of Labor. The Department of Labor makes no guarantees, warranties or assurances of any kind, express or 
implied, with respect to such information, including any information on linked sites and including, but not limited to, accuracy of the 
information or its completeness, timeliness, usefulness, adequacy, continued availability, or ownership. 

  
This MoWINs product was created by North Central Missouri College and is licensed under the Creative Commons Attribution 4.0 
International License  

 
 

http://creativecommons.org/licenses/by/4.0/
http://creativecommons.org/licenses/by/4.0/

